YpoOK 60

YpaBHeHue
KacaTenbHOU



Llenn oby4yeHusn

10.3.1.12 - coCTaBnNAaTh
ypaBHeHWe
KacaTtenbHOWU K rpauky

PYHKLMNU
B 3aJaHHOU TOYKe



Kputepun oueHnBaHusA

1. 3anuchIiBaeT 0OMIA BU YPABHEHUI
KacaTeJIbHOM U HOPMAJIN;
2. yMeeT COCTABJIATHh YPABHEHHUS KAaCATCJIbHOU U

HOPMAJIA K rpauKky PyHKIMH.



AKTyanusauus nay4yeHHOro matepuvana

1. Tpu npaBuna HaxoXxgeHua NPon3BoOHbLIX

2. B 4em cocTonT reomeTprveCcKmUn CMbIC
Npon3BoOaHON?

3. ChopmynupymnTe ypaBHeHME KacaTenbHOU



YpaBHeHMe KacaTesribHOM:
Ve = f(x0)+ f(x)(x—x,)

YpaBHeHUe
HOopManu: 1

Vv, = Jf(x,)— (x0) (x—Xx,)




Ko/uiekTuBHag padora
Find the equation of the tangent to: - OTBET 3anNUcCaTh B dopme:
a y=z-2°+3 at z=2 Dy=kx+I
Dax+by+c=0



b y=yz+1 at z=4






Home work

NeNe 15.9, 15.11 cTp. 94



Reflection of the lesson

Green-not problems. All is

clear
Yellow- | have some little
problems

Red-I don’t understand the
task. I need one’s help




